Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.

Note: Cell colors corresponds to color of part (when applicable).

Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).

Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
1 2 3 4 5 6 7 8 9 10 11 12 13
YT . Model | stallation IM;LIII-k:!'S!e Pack # Lolaft Rilht Pack # LO\!ver T |aer Length | Counter Shatft
axe ear ode Kit Type | "o2atont oy 1.9) g ; Other other | (tem 10-13) P c2C (in) |  Sprocket
Kit # out | out | out L Center | Right Spacer | Hardware Left Right Left Right
uter nner uter uter e {[s] = {[o]
Yamaha | 2018 | WR4S0F | Fixed | 2883016 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 | NA | 41186 | N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha | 2018 | WR450F | TSS 2883014 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 | N/A | 41186 | NA N/A 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
_ 41869 Aole Bolt, .
Yamaha | 2018 | YZ250F | Fixed | 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41297 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 Ade Bolt,
Yamaha | 2018 | YZ250F TSs 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41297 | - N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
& 57046
. 41869 #ode Bolt
Yamaha | 2018 |YZ250FX | Fixed | 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41107 | * ° N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ole Bolt, .
Yamaha | 2018 | YZ250FX | TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41297 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046
. 41869 Ade Bolt,
Yamaha | 2018 | YZ450F | Fixed | 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41207 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ole Bol .
Yamaha | 2018 | Yz450F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046
_ 41869 Aole Bolt .
Yamaha | 2018 |YZASOFX | Fixed | 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41297 | ' N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 Aode Bolt, .
Yamaha | 2018 |YZ450FX | TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41297 | - N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046
Yamaha | 2017 | WRA50F | Fixed | 2883016 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 | NA NIA NIA 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
Yamaha | 2017 | WR450F | TSS 2883014 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 | NIA NIA N/A 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
_ 41869 #ode Bolt, .
Yamaha | 2017 | YZ250F | Fixed | 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41207 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 Ade Bolt, )
Yamaha | 2017 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046

20170915



Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.
Note: Cell colors corresponds to color of part (when applicable).
Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).
Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

20170915

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
1 2 3 4 5 6 7 8 9 10 11 12 13
Mak Y Mgy || EEIEEER |M;L||Hc;'rse PR Lnleft Right R LO\!ver U |3er Length | Counter Shaft
ake ear ode Kit Type | "oraiation | i 1.9) ¥ ; Other Other [ (tem 10-13) P c2c (in) | Sprocket
Kit # Left Center Right
J Outer Inner Outer | Outer Spacer [ Hardware Left Right Left Right

41869 Axe Bolt,

Yamaha 2017 | YZ250FX Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-5/16" 13 Tooth
& 57046
41869 Axle Bolt,

Yamaha 2017 | YZ250FX TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  |Splitwasher,| 2882631 41173 | 41173 | 12-3/8" 13 Tooth
&57046
41869 Axle Bolt,

Yamaha 2017 YZ450F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-5/16" 13 Tooth
&57046
41869 Axe Bolt,

Yamaha 2017 YZ450F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-3/8" 13 Tooth
& 57046
41869 Axle Bolt,

Yamaha 2017 | YZA50FX Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  |Splitwasher,| 2882631 41173 | 41173 | 12-5/16" 13 Tooth
&57046
41869 Axle Bolt,

Yamaha 2017 | YZ450FX TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-3/8" 13 Tooth
&57046

Yamaha 2016 | WR450F Fixed 2883016 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth

Yamaha 2016 | WR450F TSS 2883014 | 2883017 | 41164 | 41163 | 41165 41166 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 12-3/8" 13 Tooth
41869 Axe Bolt,

Yamaha 2016 YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-5/16" 13 Tooth
&57046
41869 Axe Bolt,

Yamaha 2016 YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-3/8" 13 Tooth
& 57046
41869 Axle Bolt,

Yamaha 2016 | YZ250FX Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  |Splitwasher,| 2882631 41173 | 41173 | 12-5/16" 13 Tooth
&57046
41869 Axle Bolt,

Yamaha 2016 | YZ250FX TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A  [Splitwasher,| 2882631 41173 | 41173 | 12-3/8" 13 Tooth
&57046




Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.
Note: Cell colors corresponds to color of part (when applicable).
Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).
Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

20170915

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
Mak Y Model Installation IM;LIII-k:!'se Pack # 2 Lolaft 2 : Rilht : > ° ! i > Pack # 10L0\!ver11 12U |aer = Length | Counter Shatft
ake ear OGel kit Type | MSNANON | 1o 1.q) i Left | center | Right | Other | Other |tem 1013) B cac (in) | Sprocket
Nty Outer Inner Outer | Outer Spacer | Hardware Left Right Left Right
. 41869 #ots Bol, .
Yamaha | 2016 | YZ450F | Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ode Bolt
Yamaha | 2016 | YZ450F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 |  ° N/A  |splitwasher,| 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
& 57046
_ 41869 #ole Bolt .
Yamaha | 2016 | YZ450FX | Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher,| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ode Bolt,
Yamaha | 2016 |YZ450FX | TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
& 57046
Yamaha | 2015 | WR450F | Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2015 | WR450F | TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A N/A N/A 2882631 41173 | 41173 [13-11/16"] 13 Tooth
. 41869 Aols Bolt,
Yamaha | 2015 | YZ250F | Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ode Bolt
Yamaha | 2015 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 |~ N/A  |splitwasher,| 2882631 41173 | 41173 | 12-3/8" | 13 Tooth
& 57046
_ 41869 Aole Bolt .
Yamaha | 2015 | YZ250FX | Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A |splitwasher,| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ode Bolt, .
Yamaha | 2015 |YZ250FX | TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046
) 41869 Ade Bolt, .
Yamaha | 2015 | YZ450F | Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher,| 2882631 41173 | 41173 | 12-5/16"| 13 Tooth
& 57046
41869 #ote Bolt .
Yamaha | 2015 | YZ450F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 | N/A  |splitwasher,| 2882631 41173 | 41173 | 12-3/8 13 Tooth
& 57046
Yamaha | 2014 | WR450F | Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41186 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2014 | WR450F [ TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA [ 41186 | NA N/A 2882631 41173 | 41173 [13-11/16] 13 Tooth




Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.

Note: Cell colors corresponds to color of part (when applicable).

Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).

Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
Make - Model InsFaIIation I’:gallll-:::ﬁ Pack # ! Llft 2 : Rigl;ht ! > ® ! o i > Pack # 0 LO\!ver 2 2 Uplaer = Length | Counter Shaft
Kit Type : (Item 1-9) Left | Center | Right ther Other | (item 10-13) _ _ C2C (in) | Sprocket
Kit # Outer Inner Outer | Outer Spacer | Hardware Left Right Left Right
41869 Axe Bolt,
Yamaha 2014 | YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A Sp(lgi‘t;/gaoi :er, 2882631 41173 | 41173 | 12-5/16" 13 Tooth
41869 Axle Bolt,
Yamaha 2014 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A Spgtgzj Zer, 2882631 41173 | 41173 | 12-3/8" 13 Tooth
41869 Axle Bolt,
Yamaha 2014 | YZA50F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A Sp(lgi(t;/ggi :er, 2882631 41173 | 41173 | 12-5/16" 13 Tooth
41869 Axle Bolt,
Yamaha 2014 | YZAS50F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41197 Axle N/A Sptlgi‘tg/\;;i :er, 2882631 41173 | 41173 | 12-3/8" 13 Tooth
Yamaha 2013 | WR450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 13-5/8" 13 Tooth
Yamaha 2013 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha 2013 | YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2013 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-3/8" 13 Tooth
Yamaha 2013 | YZA50F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2012 | WR450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 13-5/8" 13 Tooth
Yamaha 2012 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha 2012 | YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2012 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-3/8" 13 Tooth
Yamaha 2012 | YZA50F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2011 | WR450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 13-5/8" 13 Tooth
Yamaha 2011 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha 2011 | YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2011 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-3/8" 13 Tooth
Yamaha 2011 | YZAS50F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2010 | WR450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 | 13-5/8" 13 Tooth
Yamaha 2010 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha 2010 | YZ250F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2010 | YZ250F TSS 2882664 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-3/8" 13 Tooth
Yamaha 2010 | YZA50F Fixed 2882663 | 2882608 | 41164 | 41163 | 41165 41166 | 41189 [ 41214 N/A N/A 2882631 41173 | 41173 | 12-5/16" 13 Tooth
Yamaha 2009 | WR450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A 41188 N/A N/A 2882631 41173 | 41173 | 13-5/8" 13 Tooth
Yamaha 2009 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 N/A 41188 N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth

20170915



Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.

Note: Cell colors corresponds to color of part (when applicable).

Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).

Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
1 2 3 4 5 6 7 8 9 10 11 12 13
Mak Y Moder | mstaltation | (5 PSS | pack # Lolaft Rilht aachi Lm!ver U |aer Length | Counter Shaft
ake ear OGel | kit Type | 'MtEIANON] (o 1.9) i Left | center | Right | Other | Other |tem 1013) B cac (in) | Sprocket
Kit # Outer Inner Outer | Outer Spacer | Hardware Left Right Left Right

Yamaha | 2009 YSZtZri(I)(ez_ Fixed | 2882659 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2009 YSZtZr i?«f- LES] 2882660 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 (13-11/16"| 13 Tooth
Yamaha | 2009 | YZ250F | Fixed | 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2009 | YZ250F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2009 | YZ450F | Fixed [ 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2009 | YZ450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2008 | WR450F | Fixed [ 2882661 | 2882607 | 41135 [ 41129 | 41143 41149 | 41188 | NA [ 41188 [ NA N/A 2882631 41173 | 41173 [ 13-5/8" | 13 Tooth
Yamaha | 2008 [ WR450F | TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2008 YSthri(I)(j_ Fixed | 2882659 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2008 Ysztzri?(:' TSS 2882660 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2008 | YZ250F | Fixed [ 2882661 | 2882607 | 41135 [ 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 [ 13-5/8" | 13 Tooth
Yamaha | 2008 [ YZ250F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2008 | YZ450F | Fixed | 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2008 | YZ450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41189 | 41214 N/A N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2007 | WR450F | Fixed [ 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2007 | WR450F [ TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2007 YSZtZr i?(ez' Fixed | 2882659 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2007 YSZtZr i?(:' LES] 2882660 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 (13-11/16"| 13 Tooth
Yamaha | 2007 | YZ250F | Fixed [ 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NIA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2007 | YZ250F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2007 | YZ450F | Fixed | 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2007 [ YZ450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2006 | WR450F | Fixed | 2882661 | 2882607 | 41135 [ 41129 | 41143 41149 | 41188 | N/A [ 41188 [ NA N/A 2882631 41173 | 41173 [ 13-5/8" | 13 Tooth
Yamaha | 2006 | WR450F | TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2006 Ysztzri?(j' Fixed | 2882659 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2006 Ysztzri?(:' TSS 2882660 | 2882606 | 41155 | 41156 | 41157 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2006 | YZ250F | Fixed [ 2882661 | 2882607 | 41135 [ 41129 | 41143 41149 | 41188 | NA [ 41188 [ NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2006 [ YZ250F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth
Yamaha | 2006 | YZ450F | Fixed | 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A [ 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2006 | YZ450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | N/A | 41188 | NA N/A 2882631 41173 | 41173 [13-11/16"| 13 Tooth

20170915



Yamaha™ Mountain Horse Fitment Table

Note: Left and Right as viewed when sitting on bike.

Note: Cell colors corresponds to color of part (when applicable).

Note: Additional bike countershaft sprockets to be obtained from bike OEM (when applicable).

Note: 41869 Axle is to be a stock replacement axle for snow bike installation and application (when applicable).

Bike Install Kit Sub Frame Spacers Spindle Spacers Strut Rod Spacers
Recommended
Make Year Model Ins’.(allation Ihr?;]a;lrz;s‘rs] Rl - Llft : - Rigllht : : : : - > Peees - LO\!ver - = Uplaer = Leng.th Counter Shaft
Kit Type : (Item 1-9) Left | center | Right | Other Other | (item 10-13) : : C2C (in) | Sprocket
IR Outer | Inner | outer | Outer Spacer | Hardware Left | Right | Left | Right
Yamaha | 2005 | WR450F | Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | N/A N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha | 2005 | WR450F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 |13-11/16" 13 Tooth
Yamaha [ 2005 | YZ250F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha [ 2005 | YZ250F TSS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 |13-11/16" 13 Tooth
Yamaha | 2005 | YZ450F Fixed 2882661 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | NA N/A 2882631 41173 | 41173 | 13-5/8" | 13 Tooth
Yamaha [ 2005 | YZ450F 1SS 2882662 | 2882607 | 41135 | 41129 | 41143 41149 | 41188 | NA | 41188 | N/A N/A 2882631 41173 | 41173 |13-11/16" 13 Tooth

20170915



Yamaha™ Part Number Conversion

| Spacer Pack Sub-Frame Reducers | [ spacer Pack Spindle Reducers/Spacers | | Strut Rod Reducers
Part # Conversions Part # Conversions Part # Conversions
Legacy 3| New5 Legacy 3| New5 Legacy 3| New5
Digit # Digit # Item Desc. Digit # Digit # Item Desc. Digit # Digit # Item Desc.
325 41122 |RDCR-SUBFR .998L.393W.672ID 680 41186 |RDCR-SPNDL1.500L .375W 51/641D 469 41170 |RDCR-UP TSS.373L .138W 10mmID
326 41123 |RDCR-SUBFR.713L.108W.672ID 681 41187 |RDCR-SPNDLL.475L .350W 51/64 D 470 41171 |RDCR-UP TSS .423L .188W 10mm
328 41124 |RDCR-SUBFR.792L,.187W,.672ID 682 41188 |RDCR-SPNDLL.253L .128W 51/641D 471 41172 |RDCR-UP TSS .419L .184W 10mm
330 41125 |RDCR-SUBFRL.284L .679W, 672D 683 41189 |RDCR-SPNDLL.270L .145W 51/64ID 472 41173 |RDCR-UP TSS .567L .332W 10mm
331 41126 |RDCR-SUBFRL149L .544W,.672ID 694 41191 |RDCR-SPNDLL.243L.118W 51/64 473 41174 |RDCR-UP TSS .455L .220W 31/64
332 41127 |RDCR-SUBFRL18L 575W .672ID 700 41192 |RDCR-SPNDLL.199L 0.074W 672 475 41175 |RDCR-UP TSS .455L .220W 10mm
333 41128 |RDCR-SUBFRO.958L 353W.672ID 701 | 41193 |RDCR-SPNDLL.818L 0.250W.672 [N R D CR-LOW STRUT.565L.270W25/64
334 41129 |RDCR-SUBFRL.375L .770W.719ID RDCR-SPNDLL413L .288W 51/64 610 41178 |RDCR-LOW STRUT.565L.330W 25/64
335 41130 |RDCR-SUBFR0.948L .343W .672ID 720 RDCR-SPNDLL.75L 0.625W 51/64 611 41179 |RDCR-UPR STRUT.373L .138W 10mm
336 41131 |RDCR-SUBFRL.213L .608W .672ID RDCR-SPNDLL.740L 0.625W 51/64 612 41180 |RDCR-UPR STRUT.855L .380W 10mm
339 41132 |RDCR-SUBFR0.883L .278W .672ID 762 41197 |RDCR-SPNDLL.270L .145W,7/8ID 613 41181 |RDCR-UPR STRUT.419L .184W 10mm
340 41133 |RDCR-SUBFRO.924L .319W .672ID 763 41198 |RDCR-SPNDLL.500L .375W,7/8ID 614 41182 |RDCR-UPR STRUT.795L .560W 10mm
341 41134 |RDCR-SUBFRL318L .713W 672D 770 41199 |RDCR-SPNDL1.428L .303W,7/8ID 615 41183 |RDCR-UPR STRUT.340L.105W 10mm
342 41135 |RDCR-SUBFRL.135L 53W .7191D [REEE0E] R D CR-SPNDL L 33L .205W,7/8ID 616 | 41184 |RDCR-UPR STRUT.565L .205W25/64
343 41136 |RDCR-SUBFRL.193L .588W 672D 781 41202 |RDCR-SPNDLL.370L .245W 63/64ID 617 41185 |RDCR-UPR STRUT.445L.095W 31/64
344 41137 |RDCR-SUBFRL.806L .591W .672ID 248 82728 |SHAFT-YAM.14-15 YZF SPINDLE 688 41190 |RDCR-UPR STRUT.915L .440W 10mm
345 41138 |RDCR-SUBFR.937L .332W 43/64ID 300 41212 | SPACER-SPINDLE 3.425L 51/64ID 780 41201 |RDCR-UPR STRUT.410L.175W 10mm
347 41130 |RDCR-SUBFRL.549L .944W 43/64ID 301 41213 |SPACER-SPROCKET .045L, .980ID 782 41203 |RDCR-UPR SHOCK.410L .175W 10mm
348 41140 RDCR-SUBFR1.571L .966W 43/64ID N/A 57084 |SPACER-SPROCKET .05L, .327"ID
349 41141 |RDCR-SUBFRL.335L .73W 43/64ID 302 41214 |SPACER-SPINDLE 3.525L 51/64ID
350 41142 RDCR-SUBFR2.286L 1.071W 43/64 428 41215 |SPACER-SPEEDO ELIM
351 41143 RDCR-SUBFR1.862L 1.257W .719ID WASHER-SPINDLE .400L 1"ID
352 41144 RDCR-SUBFR1.234L .629W .672ID WASHER-SPINDLE .230L 1" ID
353 41145 RDCR-SUBFR.9L .295W .672ID WASHER-SPINDLE .125L 1-1/32"ID
354 41146 |RDCR-SUBFR.994L .380W .672ID 155 20653 |BOLT-5/16-18X3" ALLEN ZYP
356 41147 RDCR-SUBFR.787L .182W .672ID 177 20652 |BOLT-5/16-18X2.75" ALLEN ZYP
357 41148 RDCR-SUBFR.75L .145W .672ID 183 57031 |WASHER-0.375"X0.875"X0.025" YZ
358 41149 RDCR-SUBFR.648L .043W .719ID
359 41150 RDCR-SUBFR.902L .297W .672ID
360 41151 RDCR-SUBFR1.154L .549W .672ID
384 41152 RDCR-SUBFR1.092L .487W .672ID
385 41153 RDCR-SUBFR1.004L .399W .672ID
386 41154 RDCR-SUBFR1.062L .457W .672ID
389 41155 RDCR-SUBFR1.185L .58W .719ID
390 41156 RDCR-SUBFR1.325L .72 W .719ID
391 41157 RDCR-SUBFR2.522L 1.307W .719ID
392 41272 RDCR-SUBFR1.791L .576W .594ID
393 41158 RDCR-SUBFR.9L .295W .594ID
396 41159 RDCR-SUBFR1.505L .900W .672ID
397 41160 RDCR-SUBFR1.08L .475W .672ID
398 41161 RDCR-SUBFR1.735L 1.13W .672ID
399 41162 RDCR-SUBFR.842L .237W .672ID
402 41163 RDCR-SUBFR1.375L .77W.672ID
403 41164 RDCR-SUBFR1.135L,.53W.672ID
404 41165 RDCR-SUBFR1.862L 1.257W.672ID
405 41166 RDCR-SUBFR.648L .043W.672ID
414 41167 RDCR-SUBFR1.025L .42W.5914D
20170915 415 41168 RDCR-SUBFR.665L .06W.5914D
416 41169 RDCR-SUBFR1.4L .795W.5914D
478 41177 RDCR-SUBFRO0.66L 0.055W 43/64ID




